MTH 265, Quiz #3, Summer 2021

Name KEY

Instructions: Show all work. Use exact answers unless specifically asked to round. Be sure to complete
all parts of each question.

1.

Rewrite the equation x? + y? + z2 — 9z = 0 in cylindrical and spherical coordinates.
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3. Sketch the curve 7#(t) = 2 cos
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4. For the vector-values functions 7(t) = 2cost i+ 2sint ]+ tk and (t) = t3i + efj — %fé,

perform the indicated operations.
a. 7'(t)

{ -23int, Zeosk , 1 2

b. [u(t)dt

< JAte,, ebrte, ~lnlble Ca>

¢ #(t)-A(E)
24300t 4 2eFgut 1

d. [IF@ll

\T(:me)"*amf)’a-e‘ - qaer




